3x(x = 5) +4x(1 - 3x) = ax? + bx+ ¢ € W, abc 9] g7

@o @11 @20 @9  6-9

a=-9, b=-11, c=0
. abc = (-9) x (-11) x0 =0




2. A& a b c,dol Aot (2x-1)(x? —5x+3) =ax® +bx®> +cx+d
A, a+b+c+do F2?

-3 @-1 ®o0 @ 1 ® 3

S5 ~
(2x—1)(x® = 5x + 3)

=2x3 - 10x% + 6x— x> + 5x -3

=2x3 - 11x2 +11x -3

a=2,b=-11, c=11, d=-3

“a+b+c+d=-1




(5x — 6)(4x + 3) = ZA7Net 422

D 20x% +2x-18 @ 20x® +4x-18

® 20x% +6x—18 @ 20x% -9x+ 18

@20)62 -9x-18

(5x—6)(4x+3) = (5><4)x2+{5><3+ (=6) x 4}x + (—=6) x 3 =
20x% —9x — 18




(2x% +4x? 4+ 6x) +2x ¥
of A%} 4

A=x(x-2),B

4.

<

&

bl o, 2

S

@ 12 3 14 @)-14 ® 16

® -12

~&B

2A-2B = 2(A-B)

x2=2x, B = x*+2x+3°]1L A-(2B-A)

A=




5. 712, AR Zdolr} 2x, 3x%y %1 ASHA| 2] Fu] 7} 6x4y3 — 12x3y2
o of, 2§ HA 9] Fol=?

/
PN v
/ 35’y
~9r--
D xy?-12y @ x?-2y (@ny2 -2y
@ 6xy% -2y ® 6x%-12y

6xty3 — 12x3y% = 2x x 3x2y x h
6x%y3 — 12x3y?

s h 6x3y

= xy* -2y




6. axb=(atb)?OF HOIT U], 2 (y)+xx2y S 7] S}

@D 2x2 + 2y? @ 3x% +3y? @ 4x? + 4y?

(@)5x2 + 5y? ® 6x2 + 6y

(2x - )% + (x +2y)°
=4x% — 4dxy + % + 1% + dxy + 4?
= bx2 + 5y?




AT+
4B2_
=12
+ 4 X L
1772




8. The Lol AAG HE] Holk?

--=Q-~__ .b.

- ~

--—-Q -

@ (a+b)? =a® + 2ab + b*
@ (a-b)?=a®-2ab+b*
@) (a+b)a-b)=a®-p?
@ (x+a)(x+b)=x*+(a+b)x+ab

® (ax+b)(cx+d) = acx® + (ad + be)x + bd




9. (a+b)(a-b)=a®-b*> = ol-&sto] Atstr] 7P It A0

O 1982 @ 1012 ®)47 x 53

@ 101 x 103 ® 203 x 302

B

@ 1982 = (200 — 2)?

@ 1012 = (100 + 1)?

® 47 x 53 = (50 - 3)(50 + 3)

@ 101 x 103 = (100 + 1)(100 + 3)

® 203 x 302 = (2 x 100 + 3)(3 x 100 + 2)




10.

x+y=3,xy=-4 40, (x-y)? 9 G227

@ 20 @25 ® 7 @ 5

(x=y)?=(x+y)?-4dxy=3%-4x(-4) =25




a®> =16, b2_4°“ﬂ1( +5b>(1 —%)ﬂ%l%?

® -30 @—24 ® -18 @ -12 ® -6

(30 G20 -G -G

_]‘ 2 252
=164 " 1?
1 25
= —x16- = x4
16><6 4:><

—=1-25=-24




12.

(x+A)(x+ B) B AASFAHY 22 + Cx+ 8 ©] HA. tH2 F € 9
ol = 4 gl Z27? (H, A, B, C = Aot}

® -9 @ -6 @3 @ 6 3 9

(x+A)(x+B) =x>+(A+B)x+AB=x*>+Cx+ 8 °|B2
A+B=C, AB =8 o]t}

w2t €= (148, 2+4,-1-8, —2-4)=(9, 6, -9, —6)
oltt.




(x=y+2)(x—y+3)
ol BE ] Aol F8S Foha?

|
’Q
_|_
[\
‘T
w
e
filo
r
=
ol
=D
38,
filo
£
S
O
+
ok
filo
=
1o
rek

© -3 @ 6 3)9 @ 15 ® 21

B ‘

x—y=A, x+ 2y = B2} olH
x—y+2)(x—y+3)—(x+2y-3)2
:(A+2)(A+3)—(B—3)2

=A2+5A+6-B2+6B-9
=(x-y)2+5(x-y)+6—(x+2y)2+6(x+2y) -9
=x2-2xy+y? +5x -5y +6— x> —dxy—4y? + 6x+ 12y - 9
=-3y> —6xy+11x+7y-3

A A YA Y AGY] & -3-6+11+7=9




(a+b)(a® + b?) — ab(a + b)

14. a?+3ab+b% =5,a2—ab+b%> =1 < 0,
3ab

o ghe BE P AL

1

5 2 4
) 3 @ =1 ® 3 @i— ® 3

B \

a?+3ab+b>=5--- O

a?-ab+b*=1--- ©

O-O=2stHab=1--- ©®

© O HUstH a? + b2 =20|BE2 g+ b= =2
~(a+Db)(a®>+ b?) —ab(a+ b)

’ 3ab

_(a+0b)(a*+b*) —abla+b) +g
B 3ab -3




ol

15.  (15x% + 9xy)+3x + (25y% — 5xy)+5y & ZHs] oFH?

@4x+8y @ 8x+4y ® 10x+ 2y

@ 10x+ 8y ® 14y

(15x2 +9xy) + 3x+ (25y% —5xy) + 5y = 5x+3y+5y—x = 4x+8y




